## **Foundations of Math 11**

## **Quadratic Functions & Equations**



 $\begin{array}{c} Y = (x^{2} - 6x + 9 - 9)^{2} + 10 \\ Y = (x^{2} - 6x + 9) + 10 - 9 \\ \text{positive } Y = (x - 3)^{2} + 1 \\ \text{Min } \\ V = (3, 1) \\ \text{Min } \end{array}$ 

(b) 
$$y = \frac{1}{2}x^{2} + 10x - 7$$
  
 $Y = \frac{1}{2}\left(x^{2} + \frac{2}{2}0x + 100\right) - 7 - 100(\frac{1}{2})$   
 $Y = \frac{1}{2}\left(x^{2} + \frac{20x + 100}{-7} - \frac{100(\frac{1}{2})}{-7}\right)$   
 $Y = \frac{1}{2}\left(x + 10\right)^{2} - 7 - 50$   
 $Y = \frac{1}{2}\left(x + 10\right)^{2} - 57$   
 $\sqrt{\left(-10^{2} - 57\right)}$   
min

## **Example 5:** Graph and answer the following questions. a) $y = (x - 4)^2 - 4$



**Example 6:** Determine the equation of the following quadratic function.

a) Has a vertex (1, 5), opens as  $V = 2(x - 1)^2 + 5$ b) Has a vertex (-1, 3) and goes through the point (5, 4).  $Y = (x + 1)^2 + 3$   $V = a(5 + 1)^2 + 3$   $V = \frac{1}{36}(x + 1)^2 + 3$ c) Y-2(x-2)<sup>2</sup>-2